Subject: Re: Kenya SPA 2010 - how to apply weights
Posted by Liz-DHS on Fri, 22 Apr 2016 22:28:21 GMT

View Forum Message <> Reply to Message

Dr. Elkasabi responded:

Quote:

You should combine the adjacent strata to avoid any single unit stratum. Different approaches can
be used. For example you can do the following

gen strata2 = strata

replace strata2 = 4 if inrange(strata,1,3)
replace strata2 = 10 if strata == 11
replace strata2 = 19 if strata == 18
replace strata2 = 21 if strata == 20
replace strata2 = 28 if strata == 27
replace strata2 = 37 if strata == 36
replace strata2 = 45 if strata == 44
replace strata2 = 55 if inrange(strata,52,54)
replace strata2 = 64 if strata == 63
replace strata2 = 70 if strata == 71
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